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O SSE22H2YAN M= &S] 700,000& * 239" « 128 193,200
203 ¥RF&dl 8,760 8,700 60
02 FHAMARFZH| 2,520 2,520 0
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SN B2
HE: #F2 AR (2AL)
o2l D122l oo dA
SN EY O (BH) - MR - Ba= Aol e =2t
- BAXA 60,000& * 8IH Xl A& 5,760
O F=gREz 3,360
- 2244 120,000& 1,440
- BAXA 20,000& = 8IH K| £ 1,920
O dMIIANEZ 78,000
- BadL 2,500,000& 30,000
- BN 500,000& * 8IH Xl A 48,000
O 4ot 23 4,560
- Ba4a 300,000& 3,600
- BAXA 20,0003 * 40 Xl A& 960
O NESEI3MdRE S 840
- AN&2 30,000& * 90 & 540
- NHESXt 30,000& * 5CH 300
O XS XAl 80,000& = 8CH 1,280
O NS B2 400,000& 3,200
O 22E3ltl 200,000& 200
202 O4dl 103,680 103,680 0
01 2LHOHI 26,880 26,880 0
O SEgddsd S5 JI2HR FAAL 80,000& * 289 26,880
02 EAHNHI 76,800 76,800 0
O BAHXA EHNYI 200,000& * 16 38,400
O Ba&lgs EHAY 200,000& * 16 38,400
405 XH&HFESHI 11,600 10,000 1,600
01 ML =SFHSHI 11,600 10,000 1,600
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